
WWW.RETROFITLAB.COM

2x Aharon AtomLED X2 projectors

8 x

16 x    M4 nut
8  x    M4 machine screw

8  x    M4 washer

4  x    M4 10mm threaded spacer
4  x    M4 6mm machine screw
4  x    M4 nuts
4  x    M4 washers

4 x

8 x
20 x

12 x

4 x

2x Mini Gatling Gun shrouds 
1x Custom made bracket + mounting hardware 

Not supplied but from your own headlight:
2x leveling bracket 

Parts needed

Prepare the projectors 1STEP

Video: https://youtu.be/kxflf-slp_w?t=129
Please check the video to see how to mount the bracket and the included hardware to 
the bi-led projectors.  

Mount the leveling brackets 
Not included in the kit, these are re-used from your headlight.

2STEP

Instructions

Need help?

M4 6mm machine screw 

 M4 10mm threaded spacer

leveling bracket
M4 washer

 bracket

M4 nut

INSTALLATION INSTRUCTIONS
  KAWASAKI - Z900 bi-led

For more info about opening the 
headlight and the rest of the 
installation steps please scan 
the QR-code.
 

1 x

You need the following hardware:

M4 16mm machine screw 

 M4 nut

Bracket
M4 washer
M4 nut

 LED projector

You need the following hardware:

M4 nut
-
-
-
-
-
-

-
M3 screw

M4 washer
M3 20mm plastic spacer
M4 6mm machine screw

M4 16mm machine screw
M4 10mm threaded spacer

The 8 pcs M3 screws are used to mount the shrouds to the projector.

Please see our DIY page for 
more info about wire 

connections etc.

https://youtu.be/kxflf-slp_w?t=129

